SUPERSAVER SURFACE MC5396
MOUNT MESSAGE CENTER 6/18/2022
INSTRUCTIONS

SURFACE MOUNT

Q/
==

[




SUPERSAVER SURFACE
MOUNT MESSAGE CENTER
INSTRUCTIONS

@ 1X - 1X

MESSAGE CENTER ROOF ASSEMBLY

4X
SLIDING LOCK WINDOW GLASS
1RBK7 GLASS-SS-LG-MP

SURFACE MOUNT

KMC?2185

@/_

AMC-

COMPONENTS &

TOOLS REQUIRED
FOR ASSEMBLY

| -

2X
POST
PO305-SFM

2/6



SUPERSAVER SURFACE \

MOUNT MESSAGE CENTER
INSTRUCTIONS

=5 Sy k)

6X 10X 4X
1/4" X 4" LAG SCREW 1/4" FLAT WASHER 1/4" X 1-1/2" LAG SCREW
HLAG025C400188 WUSSO25WAS 188 HLAG025C250188
% @
4X 4X @
3/8" X 5" HEX BOLT 3/8" FLAT WASHER
HHCS037C500188 WUSSO37WAS188

REQUIRED TOOLS
(NOT INCLUDED)
(1) 3/8" SOCKET

(1) 1/4" SOCKET

(1) #2 PHILLIPS BIT COMPONENTS &

| (1) LeveL L] 3/6




SUPERSAVER SURFACE

MOUNT MESSAGE CENTER
INSTRUCTIONS

STEP #1

Lay Message Center (A) on the ground

Lay Posts (G) on either side of the Message Center

(A) and align the predrilled holes

Note: It may be helpful to prop up Posts about an

inch to better align with holes on Message Center

Take 3/8" x 5" Hex Bolt (L), feed through a 3/8" Flat

Washer (M), through an outside hole on one of the

Posts (G), and screw into aligned hole on Message

Center (A)

Repeat for three other holes to complete

aftachment of Posts (G) to Message Center (A)

F. Note: Hand tighten bolts until all four have been
placed, then tighten with socket wrench

O 0 %>

m

STEP #2

Keep the Message Center with the Posts
attached on the ground

B. Put the Surface Mount Bases (F) onto the
post bottoms (G)

C. Fastenthe 1-1/2" Lag Screw (K) through the
1/4" Washer (I) through Surface Mount Base
(F) and screw into Post (G)

D. Repeat for other 3 other Lag Screws (K)

E. Liff properly into standing position

F.  Secure Surface Mount Bases to ground

ATTACH POST TO

MESSAGE CENTER




SUPERSAVER SURFACE \

MOUNT MESSAGE CENTER STEP #3
INSTRUCTIONS A. Align predrilled holes on Roof Assembly (C)
and top of Message Center (A)

B. Take 1/4"x 4" Lag Screw (H), feed through
1/4" Washer (1), through a hole in the top of
Message Center (A), and screw into

—/ : Roof Assembly (C)

' . Repeat for remaining 5 Lag Screws (H)
Note: Moderately tighten screws until all 6 are

=
ﬂ H \]/ placed, then go back and securely tighen.

o0

ATTACH ROOF
K TO MESSAGE

CENTER 5/6 /




SUPERSAVER SURFACE
MOUNT MESSAGE CENTER
INSTRUCTIONS

STEP #4

A.
B.
C.

D.

E.
F.

Remove protective film from Window
Glass (D)

Gently Bend the Window Glass (D) into
Door Track (E)

Make sure one piece of Window

Glass (D) is in the rear track, and one
piece is in the front track

Aftach Sliding Lock (B) set screw to
Window Glass (D) by fightening in
desired lock location

Secure Windows by locking the Sliding
Lock (B)

Repeat all steps for other side of display

/[
00\

YA

N

N

DOOR TRACK &




SUPERSAVER SURFACE ?3’}?85/3292‘3
MOUNT MESSAGE CENTER REV #2

SPECIFICATIONS
8.00010.000
{778
I
-=—{ 5500
42.163 - }
Il 33.838 B \ —
- 43.875 —
‘ P .
I 5 H
80.413
60.250
- 46.600 —— =1
~ 53.400 - e300
38.250
—— r f

K = 58.250 -

ALL DIMENSIONS SHOWN IN INCHES

J




	COVER
	Drawing View48

	PG 2
	Drawing View66
	Drawing View80
	Drawing View83
	Drawing View84
	Drawing View111
	Drawing View125

	PG 3
	Drawing View101
	Drawing View102
	Drawing View105
	Drawing View112
	Drawing View113

	PG 4
	Drawing View126
	Drawing View127
	Detail View Y (1 : 12)

	PG 7
	Drawing View129
	Detail View AA (2 : 15)

	PG 8
	Drawing View90

	SPECS
	Drawing View131
	Drawing View132
	Drawing View133
	Drawing View134


